T

[+

AT

-
—

+ XA

ke, 7
¥ Txp

[=) %]

S

: p\_\\ ul K
Seporg >y TN P opUly 1

A EF

Mﬂ.m =(0)x @sedd"S 1 d AL

wmwN\\.N 2 +w‘mM\mﬂN¢ -MMN

wl.u._ En.u\u_..\h\m.m N\V{.U.CU;“ MSNN

! 1
MMQv:*
o \

t [z .
= 2y .v\3 MhN 2 S22 Puwv

)
\ - = any®) '3 \3 M\WMN 'y saepal’a w«_\ M\ ; N

MNNM\O M =8 w\_:.m.v



. wm-n,s 54
.w W
ow O n\ \w
P —

0&E—
2

0 =Y Bg o8B nv&.l.*\ﬂ. ..w...“\v

SVon.h“ﬁvm.mO

0> Y ‘eg ase) Qt.u..ww m\:

—
0.< ¥ g 9% ~ DC 424

> %4 > Ty gy ase
, [ (arf)s00%m + (pyussa 2ot o [ (FTussTm — (3r7)s00%0 o [ %F 0 ar oo
P (p)soatm + (a)ursa ta (3 yurstm — (37f)s0010 T\ 1z

ST WOTIN[OS [eIouUal waf],

Lz
M o m.l..wa .&_w
Zm 2\  [Tmi+ 2 0 < 84 < LT 0se)
Im i+ n ]~ Imz 4 Ta
: m <n 1 (4 g
S st anreaua3o sy 01 Smpuodselios rojoasuadie oy asoddng 22| 1y |t 1g ) 0T { 1gp ) 5 SUCHUOS [219U95 9q3 SouSH
7/
X3 Pwe? T P tyry—ivot 0> (- o(p +9) 58 950 0 < (99 — po)i - o(p +0) :T osED
(4 -
0> £ :qg 958D G P o) rrm) ok
L — o)
0=29-po+ip+o)—gi=2q~(-ps-2)=|" P .
0 < 4 :eg 9gen)
Zn w\], AV 2r ) 1810309AU93e Buipuodsa1100 pue sanfeausS puy ‘eA[0s OF,
v I I ﬁ 0+ ,.2 Aﬁav 2= Aﬁav 81 uoynos [erauad agy, o R .
AH v Av v = Aﬁ u IO X[IJ8UX UT I()
1910308AT831e Juopusdapu sup) mg esen) € 9 v N
Zm % o Cap + 1o = (3)%
Pl . %+ .0 In Ty = 1 | St UOHm[os [erouad oy, ‘2zq + oo = (1) Iz
4q vaa1d st £3100[04 8,308[q0 2y asoddng -7 ey e ((3)%2(2)x) yurod a1y
'810100AUS P Juspuedopur om T, [ig 988 7e st M Jeqy os (eueld oz ‘Tz ofy) eweld (Jz o) W saaow $29(qo we esoddng

0= (9¢ — po)y — ,(p + ) :¢ aseD 6 PUB 2 40



o uG " DTLL] GIALCIAI LT FHER  WATERRLAR G, AN O SABASN]. TLGERIER| L THAL: ML Uit L UL
o | voaer oy | DAILT  MRHER Y (e & - 5 - LR

‘weigdeip L3AqeIs a.a HANIIA

6'T'6 9IMBL] UT A[[ENSIA POZLIETIINS 21€ Z PUE (7 SWS[QOXJ JO SIMSa1 oYL,
0 < d10( > byequisun (o)
‘0 = dpue g < bpaqes (9)
‘0 > dpue < b projquss Ajeonordwisy (e).
st (0 “0) 3wod [eanL oY) 18Y) MOy ‘0z WO[qoXd SWnuuo) ‘I
"d = % + U pue b = 2/l suopie|o1 9Y) ‘9sn 0} way) pue .ﬁﬁnﬁmmxop mydey 2q
os[e Aew )] ‘% pue L soneAuddro o) Surdpmys Aq peyoeal 9q Ued SUOISN[oUO0d IS, JUIF]
0<bpueg=dpue) (p) 0>V pue(# dyjumod ends ()
‘0 > b j13mod s[ppes (q) < vpue(<bjyopoN (e)

T . U,

L svvvanaln e V@ avva TA TITTANTIT ATTATATITAAA



